Total No. of Printed Pages—7
1 SEM TDC ECON (CBCS) DSC 1

2019
( December )
ECONOMICS

( D1sc1phne Spec1ﬁc Course )

Paper DSC—I

i

( Principles of Microeconomics-—l )

Full Marks 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full iarks
Jor the questions .

1. e RAARR ROAIDR et R : | 1x8=8
Answer the following as directed :
(a) R LD P IR IR T TS 7
- Which of the followmg factors is

respon51ble for the e:ustence of problem
- .of choice? o

i I TE!IT’BVSI
Scarcity of resources

(i) I=MI [T
Abundance of resources
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) (2)
T T
(iii) TR SR wcsta ‘
Unlimited wants of the human bemg
(iv) At wdAifS
Monetlzed economy
(0% Ceach AR Bhea )
, : . .32 "(Choose the correct answer )
() T @A T R wﬁzﬁ R RIS TS
SRl T T, ﬂﬁm

If - quantity - demanded is - completely
unresponsive to changes in price,
demand is '

O wRfm
inelastic -+ - ~
unit elastic

() R
elastic

(iv) ’f""rfﬁm Wﬁﬁww
perfectly melastlc ‘

| (wﬁw@aﬁ%ﬁw)

( Choose the correct answer )

() mﬁm%ﬂmﬁm uﬁmz‘m e T
RfF?
Who introduced the concept of dummshmg
marginal utility?

‘. “u-» b
[OLA

- 20P/401A {-Continiied)



‘( 3 )
*
.

(d)mm%ﬂmﬁ@wm,wf@mgx
- Tocmfer & =wme :

' What happens to total -utility when

marginal utility is zero?-

fe) oot Fom 2 \
What is production function? B
O 0 B T ol Rem 2, oA T-Beorm
@ ____ = | |
( L—WMW/WWWI )
(RS T )

If two factors are perfect subshtutes, the
isoquants will be __

(L-shaped/ stralght line/downward
T : ~'sloping)

(Fillintheblank)

@ W’ww R TR R Bl w2

What determines in shape of the long-run
average cost curve? ’

(h) RIERw 7T o1 T Ty
Give'an example of vanable cost

[ . h‘u"‘.
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. wore fRammpe <@ R e wikeR vy G fora
5%x4=20
" Write short notes on any four of the followmg :
LN L. E N N - L

(@) BT TERATST TN
Production possibility curve

@) ammRR -
Law of supply '
(c)4 -t AT

Diamond-water paradox

. (d) TR-SeoE @R (IEBPTER

Properties of isoquant

(e) - BeerE IR o o S R

Derivation of the demand curve from
indifference curve -

(N TR o I @ S aAfern

Process of derivation of long-run average
cost curve

3. (@) v RRC Some 341 1 ARG <1 B T
leﬁmﬁﬁﬁﬁﬁﬁmml 2+¢8+3=13

State the law of demand. Explain the law
with the help of a diagram. Mention three
exceptions of the law of demand.
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(5)

%41/ Or

(b) SRR T R suza Rrm ﬁﬁsmw
e & R 7 wiRe = fRfTrrreR Rt
WWWI o ' 2+5+6=13
- What is price elastlmty of demand? What
are the determinants of price elasticity?

Discuss the different types of price
elasticity of demand.

4. () SRR S i | PR, 2 ST
TR b1 Bz SITeo=1 341 1 R TSP

. SR ) ) | 247+4=13
Define utility. Discuss the law of

diminishing marginal utility with the help
of a diagram. Mention its limitations.

SJ]7/ Or

() P @ R2 fPeers @R @REPER
A 91 | RICTE @ AF WD TR
RS TSR S G I 1 2+6+5=13
“What is indifference curve? Discuss the
properties of indifference curve. Discuss

consumer’s equilibrium with the help of
indifference curve and budget line.
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5. (a) “RaSTR wepeite RRCE o Baprz o 31 4
ﬁﬁa@%wﬂwﬁﬁwmﬂmmm
- PR s e Ry . 10+3=13

e
. = - Explain the law of vanable proportion
with the help of a dlagram What is

" the difference between law of variable

: proportlons and' law of returns to scale?

e AN
A

W/Or L Yer

(b) TR Q@ B2 278 G offzefiFes T
' 'W«meu' ~ 2%11=13
What is 1so-cost hne? Explam the

conditions for cost minimization for a
. given level of output.. .

Lo gl

6. (@) () oo GRUPR RR F : 6+4=10
Define the following concepts :
(1) 5T, T IW IE ARFIW
Total .cost (TC), average cost
. (AC) and marginal cost (MC)
@ Wﬂﬁz@ﬁamw wﬁam

: : Average vanable cost (AVC) and
.  averdge ﬁxed cost (AFC}

. 20P/401A { Contitited)



(7)

(i) ARTITWEE TS TETRTERRIL 3
Write the relationship between
marginal cost and average cost.

51/ Or

(b) T Beoms fisafier ke fran | gzen
%Q’WWW%&WWWI

¥ 2+11=13
Define the meaning of economics of scale.

Discuss the types and sources of
economics of scale.
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